Questions # 1 (7 points)  SHUMW YOUR CALCULATIW 22
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Joestion 42 (1points)  SHOW YOUR CALCupATIONS

A halanced Y-eonnected load as shown below is fod from @ 302, three-phase Y-connected source
with line voltage of 400 Von.. The resistance R in each phis€ of the Toad is 10 Q) and the load draws

a total power Fu., of 15 kW, Calculate: /
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SHOW YOUR CALCu ATIONS

/ In the figure shown below, two-wattmeter method have beeh used 10 measure the power input 1o 1
_;4”. Vs 3P Andycliod mator running at full load. The wattmeter readings are 1 = 1135 'R_.}‘_u" anl
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anall .indl.l.ﬂ!ri:i]_ plar:i has a 3-!‘*1:. VDKW Yacpimected resistive heating load and a 3-ph 5000-
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